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The pkfix-helper program occasionally needs help
from the user in selecting an appropriate TFM file to
match a Type 3 font found in a PostScript document.
This document assists with the task of identifying fonts
by presenting character-by-character comparisons of
all 256 character positions in a selection of common
TgEX fonts. The following encodings are represented:

o TEX text (e.g., emri0)

e TEX math italic (e.g., cmmil0)

e TEX math symbols (e.g., cmsy10)
e ITEX symbols (e.g., lasyl0)

e TEX math extension (e.g., cmez10)

Adobe standard encoding (e.g., rptmr)

Adobe symbol encoding (e.g., rpsyr)

extended TEX font encoding (e.g., ecrm1000)

e TEX text companion symbols (e.g., tcrm1000)

To use the tables that appear below, first produce
“before” and “after” font sheets using pkfix-helper’s
--ps and --tex options. (See the pkfix-helper documen-
tation for details.) For each font in which the “after”
characters are completely different from the “before”
characters—as opposed to merely the wrong selection

of font size, weight, or slant—make a note of the font
that pkfix-helper announced it had selected. Find the
table and column in which the “before” symbol exists
and the “after” symbol is associated with the font se-
lected by pkfix-helper. The font associated with the “be-
fore” symbol is what should be specified in a —-force
option to pkfix-helper. For example, consider the ob-
servations shown in Figure 1. We find that the “after”
character, “n”, is associated with cmmil0 (the same
typeface used for cmmib10 but in book weight) at char-
acter position 17. The “before” character, “=", is also
present in position 17 and is associated with cmsyl0.
Therefore, we know we need to re-run pkfix-helper with
the —-force="Fj=cmsyl10 @ 1.2X" option to force it
to associate document font Fj with ¢msyl0 instead of
cmmibl10.

The font size may need adjusting.
preceding example, --force="Fj=cmsy9" produces
less mismatch for cmmib10 @ 1.2X than does
--force="Fj=cmsy10 @ 1.2X" (mismatch=0.00106 vs.
mismatch=4.43701). Making such a determination
still requires human involvement. A suggested ap-
proach is to observe that --force="Fj=cmsy10 @ *"
causes pkfix-helper to select a scaling factor of 0.92918X
for a scaled font size of 0.92918 x 10pt. = 9.2918 pt.
Noting that cmsy9.tfm exists and assuming that the
document source did not specify a fractional scaling of
the font, we can hypothesize that unscaled cmsy9 is
the font actually utilized in the document.

In the

pkfix-helper: Processing Fj done
--ps file: Fj: =
--tex file:  Fj: n

(cmmib10 @ 1.2X, mismatch=0.00073)

Figure 1: Sample observations of pkfix-helper output and output files
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